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Part A
Maximum : 100 Marks

"1. (a) Statd and explain Kirchhoffs current and voltage laws.
(b) Draw the normal magnetization curve of ferromagnetic material and explain various zones.

(c) Explain constant flux linkage theorem.
(d) Explain the pulse response of a RC circuit.
(e) Find the average and rms value of a sine wave.
(f) Show that the power supplied by the current source in

supplied by the voltage source when R = 10/3 Q.
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Time : Three Hours
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(e) Each phase of a 3 phase alternator produces a voltage of 6351 volts and can carry a

maximum cuirent of 315 amperes. Find the line voltage, maximum line current and total
kVA capacity of the alternator if it is (i) Y and (ii) A connected.

Write a short note on relationship between symmetrical components and unbalance phors.
(8x5=40marks)

Part B
(i) In the resistive circuit given below, with a dependent source, find the value of V*.

(8 marks)
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$i) I'n-.tbe'circuit given below : 
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:. , , -.',-.(1) '-V" *'fe V ;'find I* for'I ='0'

Use PrineiSe ofi suPe4iositisn;
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4. (a) A time varying current shown in figure is passing through a 2 ohm resistor' Find the

average .rra 
"fr""ti.re 

values of the voltage across the resistor.
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values of total current. ' (15 marks)

(a) Determine the line currents for the unbalanced delta connected load if the phase sequence

is (i) RYB and (ii) RBY.

f

.(b) (i) Determine the unbalanced phase voltage V", \, V" in a circuib where Y aL= 50 10" '

Y 
^2 

= tO lg}" and V"o = 10 ^Z180'' 
(g marks)

The current flowing in the line'oo supplying a delta co.nnected load is 100 amp' with

the current in line nQ' as reference 
'uoa "utto-ing that line "c" is open frnd the

symmetrical components of the line currents'
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(7 marks)

[4 x 15 = 60 marks]

(b) For atwo-branchparallelcircuitS"=15 9'-R";.30 Q'&=30 9'E = 120Vand

f = 60c/s. For ihe condition of 
"""oou"rr.u. 

c"l"rrtrt"e (i) the two-values of L and (ii) the two

{..
5.

3l
balmced

Xoov
srfflil

Or

v
(ii)

Ia= O


